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	 Using the Whiteboard	 •	 Discuss the problem with students. 
•	 Tap Think to reveal helpful text. Ask a volunteer to use the Pen to complete the 

equation.
•	 Ask students to solve the problem.
•	 If available, have students use their SMART Response remotes to answer.
•	 If installed, click the SMART Response tab, and then start the question to 

begin voting.
•	 A student may also use the Pen to write the answer on the blank line.

	 Answer Key	 4 tons × 2,000 = 8,000 pounds
4 tons = 8,000 pounds
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